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Time: 3 hours
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech I Year I Semester Supplementary Examinations Dec 2021/ January 2022

MATHEMATICS - 1
(Common to All Branches)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Define symmetric and skew-symmetric matrices.
State Rolle’s theorem & Lagrange’s mean value theorems
List the statlonary points of the function f(x,y) = x3 + y3 — 3axy.
State Cauchy’s n " root test for the convergence of a serics.

If f(x) =1 —x?in[—1,1], then find the Fourier constant a,
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
1 -2 2
Show that the matrix A = [1 -2 3] satisfies its characteristics equation
B =1 2
OR
e gk
Diagonalise the matrix A = [ g Z 1
-4 4 3
UNIT - II
Find the volume of the solid generated by revolving the elhpse — + — = 1 about the
major axis.
OR
. 1 ix3 . .
Evaluate the integral [ x? (log ;) dx using Gamma function.
UNIT - 111
Ifu= ﬁ,xz +y242z2#0 thenshowthdt-a—z+a—y2+‘;z2 =0
OR

Find the directional derivative of the function f = x? —y?* + 22z% at the point P =
(1,2, 3) in the direction of the line PQ, where Q = (5,0, 1)
UNIT -1V
Discuss the convergence of the series ), ( ) for all values of x
OR
; 2n-1
Test the convergence of the series (a). Y. { = \/_} (b). X {—}

n(n+1)(n+2)
UNIT -V
Expand f(x) = |x]| as a Fourier seriesin -2 < x < 2
OR

Expand f(x) = x(m — x) as Fourier half range sine seriesin0 < x <m
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Q.P. Code: 18HS0801 R18|
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech I Year I Semester Supplementary Examinations Dec-2021/January 2022
CHEMISTRY
(Common to ECE & CSE)
Time: 3 hours Max. Marks: 60
PART-A
(Compulsory Questions)
1t Answer the following; (5 X 2 = 10 Marks)
(a) Define oxidation state with suitable example. L2 2M
(b) Write the Nernst equation. L1 2M
(c) What are inhibitors? Give an example. L2 2M
(d) What is substitution reaction? Give an example. L2 2M
(e) Write the applications of flame photometry. L3 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2z What is effective nuclear charge? Explain the variations of s, p, d and forbital L2 10M
energies of atoms in periodic table.
OR
3. (a) Write the silent features of crystal field theory. Explain the d-orbital’s splitting L2 5M
in tetrahedral complexes.
(b) Explain the molecular orbital theory with suitable diatomic molecule. 12 S5M
UNIT -1I
4. Define corrosion. Describe the factors affecting the corrosion rate. L2 10M
OR
B Describe the cathodic protection in detail. L2 10M
UNIT - IIT
6. What is meant by hardness of water? Explain the estimation of hardness by L2 10M
EDTA method.
OR
7. (a) Write short note on caustic embrittlement. 12 5M

(b) Define desalination of water. Explain the desalination of brackish water by L2 5M
reverse OSmosis.

UNIT - IV
8. Write the preparation, properties and engineering applications of Bakelite. L3 10M
OR
g, What are conducting polymers? Explain the conduction mechanism of poly L2 10M
acetylene.
UNIT -V
10. (a) Explain the principle and applications of infrared spectroscopy. L3 5M
(b) Write short note on SEM. L2 5M
OR

i Explain the principle and applications of UV-Visible spectroscopy L3 10M
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Q.P. Code: 18CE0101 R18,
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech I Year I Semester (R18) Supplementary Examinations DEC 2021
ENGINEERING MECHANICS
(Common to CE & MECH)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
I, Answer the following; (5 X 2 = 10 Marks)
(a) State the Lami’s theorem. i M
(b) Define Kinetic Friction. 13 M
(c) Detine Co-efficient of Friction. L1 M
(d) What is a cantilever truss. L1 2M
(e) What is meant by perfect frame. L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1 '
25 State and prove parallelogram law of forces. L1 5M
Classify different system of forces with suitable examples. L2 5M
OR
3 State and prove Varignon's theorem. L1 10M
UNIT - 1I
4. A body, resting on a rough horizontal plane, required a pull of 180 L3 10M
N inclined at 30" to the plane just to move it. It was found that a
push of 220 N inclined at 30° to the plane just moved the body.
Determine the weight of the body and the coefficient of [riction.
OR
3. A ladder 5 meters long rests on a horizontal ground and leans L3 10M
against a smooth vertical wall at an angle 70° with the horizontal.
The weight of the ladder is 900 N and acts at its middle. The ladder
is at the point of sliding, when a man weighing 750N stands on a
rung 1.5 metre from the bottom of the ladder. Calculate the
coetficient of friction between the ladder and the tloor.
UNIT - III
6. Find the centre of gravity of a channel section 100 mm % 50 mm x L5 10M

15 mm as shown in Fig.18
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Q.P. Code: 18CE0101

10.

11.

OR
Find the centre of gravity of the shaded area shown in below Fig.20
with reference to X-Y co-ordinate system.
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Fig.20
UNIT -1V
Prove the parallel axis theorem in the determination of moment of
inertia of areas with the help of a neat sketch.
OR
Derive an equation for moment of inertia of the following sections
about centroidal axis:
a) A rectangular section b) A triangular section from its base
UNIT -V
Explain the procedure to find forces in members of truss by using
method of joints.
OR
A king post truss of 8 m span is loaded as shown in Fig.33. Find the
forces in each member of the truss and tabulate the results.
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Q.P. Code: 19HS0830

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech I Year I Semester Supplementary Examinations Dec 2021/ January 2022
ALGEBRA & CALCULUS
(COMMON TO ALL BRANCHES)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
1 2 3 L1 oM
Reduce the malrix|3 4 5| tonormal form and hence find the rank.
LB 26 5
b) solve dx+2y+z+3w=0, 6x+3y+4z+Wm=0,2x+y +w=0 L3 6M
OR
2 8 6 2 L2 12M
Find the Eigen values & Eigen vectors of the matrix | ¢ 7 4
2 4 3
3 Verify Roll's theorem for f(x) = (x—a)™(x - b)*on [a,b] b> a;m&n € z* L2 12M
OR
.8 Expand f(x)= 4251."4'L in McLaurin’s series Le, M
b) Find the Taylor’s series expansion of ex about x = -1 L1 oM
UNIT-II]]
5 Fu=xy+yzi+zx,v=x*+y*+z2w=x+ytgfind 2':;}: 12 12M
OR b
6 Find the volume of the largest rectangular parallelepiped that can be L3 12M
inscribed in the ellipsoid Z—: + i—i + Z—: =1
7 a) 20 JTazn? L1 5M
Evaluale I J- xy dy dx
a u
b |z xes L1 7™M
Evaluate ” _"(x +y+2)dxdydz
=10 x~3
OR
8 Evaluate [[ xy dxdy where R is the region bounded by X-axis, x=2a and L2 12M
the curve x2 = 4ay
9 State and Prove the Relation between Beta and Gamma function L2 12M
OR
10 ) Evaluatei) [7e™ x*dx ii) Evaluate [ e xadx Fed
L2 6M

b) Evaluale f; x(8— xs]idx




Q.P. Code: 19HS0850

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech I Year I Semester Supplementary Examinations Dec-2021/January 2022

10

Time: 3 Hours

(@)
(b)

()
(b)

(@)
(b)

(@)

(a)
(b)

(@)

(@)
(b)

ADVANCED PHYSICS
(MECH)

Answer one question from each unit (5 x 12 = 60 Marks)

How multi colors on thin films?
Derive the condition for bright and dark fringes through the
interference in thin 8 M films by reflection?

OR

Distinguish between interference and diffraction?
Distinguish between Fresnel’s and Fraunhofer diffraction?

Write Sabine’s formula for reverberation time? Mention factors
controlling the reverberation time?
What is the importance of acoustics in engineering.

OR

Explain Piezoelectric effect.
How ultrasonics is produced by usini i iezoelectric generator?

NIT-II
Discuss the applications of soft magnetic materials

Explain B-H curve of ferromagnetic material.
OR

Describes the different types of polarization?
What are the advantages of dielectric materials

Explain population inversion?
Explain the different pumping mechanisms in laser.
OR

Differentiate step index and graded index fibers.

Write brief note on attenuation in optical fibers.
—

Explain why surface to volume ratio very large for nano materials?
Find the surface area to volume ratio of Sphere using surface area and
volume calculation for the given radius is 5 meter?

OR

What is bottom up approach and explain sol-gel preparation method
with neat diagram?
What is the effect of size on quantum dot?

Max. Marks: 60
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Q.P. Code: 19HS0801
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Time: 3 Hours

(AUTONOMOUS)

APPLIED CHEMISTRY
(Common to ECE & EEE)

Answer one question from each unit (5 x 12 = 60 Marks)

Define Electrode Potential. Derive the Nernst equation for a single
electrode potential and write its applications.
OR

Define Conduct metric titrations. Discuss all types of Acid-Base
Conduct metric titrations and Explain the nature of the graphs between
conductance and volume of titrant used.

Explain the energy level diagrams of CO and NO molecule. Explain
their magnetic nature and Bond order.
OR

What is Crystal field theory? Explain the crystal field splitting in

octahedral and tetrahedral complexes.
NIT-III

Explain the mechanism of Addition polymerization.
OR

Write the preparation, properties and application of Buna-S rubber and

Buna-N rubber

What are the methods do you follow to separate from the Liquid
Mixtures?
OR

Explain the working principle of Atomic Absorption Spectrometer
(AAS) and How will you determine the nickel using by AAS?

Worite a brief note on Fullerenes and Carbon nano tubes.
OR

a) Write a note on Super Capacitors.
b) Write a note on Liquid Insulating Materials.

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

Max. Marks: 60
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Q.P. Code: 18HS0803 leg

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester (R18) Supplementary Examinations DEC 2021/January 2022
BIOLOGY FOR ENGINEERS
(CE & MECH & EEE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)

(a) Define taxonomy? L 2M
(b) What is meiosis? %] 2M
(¢) How many types of nucleic acids are there? And write any two functions. 2 2M
(d) What is complementation? [.2 2M
(e) What is sterilization? L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
23 Explain the classification of organisms based on carbon utilization of It3 10M
organisms.
OR
3. (a) Define Habitat. Explain Terrestrial Habitat. L1 SM
(b)  How autotrophs utilize carbon and energy? L1 5M
UNIT - 11
4, Define gene Interaction. Give brief account on Dominant Epistasis with L1 10M
suitable example.
OR
3 Explain about Phenylketonuria. and Albinisim L3 10M
UNIT - III
6. Describe the enzyme action and kinetics? L2 10M
OR
7. What are lipids? Classify and explain different types of lipids L] 10M
UNIT - IV
8. Explain about on Genetic material of DNA? IL3 10M
OR
9. Explain genetic code & Degeneracy of genetic code? L3 10M
UNIT -V
10. Write a note on sterilization and various techniques used. 152 10M
OR

11 How to prepare culture medium? Explain it in detail. I 10M




Q.P. Code: 18HS0834

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations Dec 2021/ January 2022
MATHEMATICS - II1

(ECE)
Time: 3 hours Max. Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
1. (a) Write the formula for Simpson’s 1/3™ rule of numerical integration. L2 2M
(b) Define the standard five-point formula. L1 2M
(¢) Evaluate the Laplace transform of f(t) = e%t cosh bt L4 2M
(d) Define the Fourier sine and Fourier cosine transforms LI 2M
(e) Solve the partial differential equation xp + yq = 3z L3 2M
PART- B
(Answer all five units, 5 X 10 =50 Marks)
UNIT -1
v, Predict a real root of the equation x.log,, x = 1.2 using Regula-Falsi method. L2 10M
OR
. § Predict f(1.4) using the Newton’s forward interpolation from the following data L2 10M

x |11 13 [15 J17 19
f(x) 1021 [069 [125 [189 |26l

UNIT-11
4. Estimate y(0.1), y(0.2) from the differential equation y’ = y? + x, y(0) = 1 using L5 10M
Taylor’s series method.
OR
3. Estimate y(0.1), y(0.2) from the differential equation Z—i’ =1+xy,y(0) =2using L5 10M
Runge-Kutta method of 4™ order.
UNIT - 111
6. Evaluate (a). fom(e_"’ct2 sin 2t) dt, (b). fow (ms—bt) dt using Laplace transform 14 10M
OR
7. Evaluate L™1 {(52+52)2] using convolution theorem. L4 10M
UNIT -1V
2 ol
8. Find the Fourier transform of f(x) = {g A llfcll i Z and hence show that s
o (sinx—xcosx ™ '
fO ( x3 )dx = 4
OR
9. Find the inverse Fourier sine transform of F;(p) = 1fp2 LT 10M
UNIT -V
T . .92 92z 02
10. Solve the partial differential equation -a-;% + Ty 66—; = cos(2x +y) L3 10M
OR
11. A tightly stretched string with fixed end points x = 0 and x = [ is initially at rest inits L3 10 M

equilibrium position. It is set vibrating by giving each point a velocity kx(l — x). Find
the displacement of the string at any distance x from one end at any time t.
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Q.P. Code: 18EC0401 R1§

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations January 2022
ELECTRONIC DEVICES
(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 =10 Marks)
(a) Explain the formation of depletion region in a PN junction. L2 M
(b)  Define the following terms. i) Ripple Factor ii) Peak Inverse Voltage. L1 2M
(c) Identify a Bipolar junction transistor? How are its terminals named? L3 2M
(d) Why hybrid parameters are called so? Define them. JE| 2M
(e)  Explain the construction of N channel JFET. E5 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 Explain with a neat diagram, the action of PN junction under forward and reverse 12 10M
bias.
OR
3. (a) Explain the effect of temperature on V-I characteristics of a Diode. L2 SM
(b) When areverse bias is applied to a germanium PN junction Diode, the reverse L1 SM

saturation current at room temperature is 0.3 HA. Determine the current flowing in
the diode when 0.15V forward bias is applied at room temperature.

UNIT-11
4. Summarize a full wave rectifier with L-Section filter with necessary diagrams. 152 10M
OR
5. How does a Zener diode acts as a Voltage regulator. Jid 10M
UNIT - 111
6. Contrast a NPN junction transistor in CE configuration and describe the static input L4 10M
and output characteristics with a neat circuit diagram
OR
7. (a) Determine the h-parameters for CB configuration? L5 M
(b) Find Ic, I¢ and « for a transistor circuit having Ig= 15pA and B = 150. L1 M
UNIT -1V
8. Explain the working of a single stage RC coupled amplifier and frequency response L5 10M
with necessary diagrams.
OR
2 Derive the relationship between « and B L5 10M
UNIT -V
10. (a) Describe the working and characteristics of N-channel JFET L2 5M
(b) Give the comparison of BJT and FET L5 SM
OR

11. Give the construction, principle of operation of depletion MOSFET L4 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations January 2022

ANALOG ELECTRONIC CIRCUITS
(COMMON TO EEE & CSE)

Time: 3 hours

(%)

h

10.

11.

(a)
(b)
(c)
(d)
(e)

(a)
(b)

(a)
(®)

(a)
(b)

(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Draw the circuit symbol of a PN junction diode and explain its working.
Explain the operation of NPN transistor and state why NPN is wildly used.

Classify Field Effect Transistor.

PART-A

Explain the working of non- inverting amplifier.

Brief out a summing amplifier.

(Answer all five units, 5 x 10 =50 Marks)

PART-B

UNIT -1

Explain the working of a zener diode.

Compare the V-I characteristics of PN-Junction diode and Zener Diode.

OR

Why clipper and clamper circuit are used.

Explain the input and output characteristics of CB transistor.

How a BIT act as an amplifier, Explain with necessary diagram.

Explain the working and construction of N channel MOSFET

Compare BJT and FET

UNIT - 11

OR

UNIT - IIT

OR

Explain the terms Gate, Source and Drain

UNIT - IV

Draw the circuit of Voltage Follower and explain

Explain Differential Amplifier with necessary equations.

Derive first-order Low pass filter.

OR

UNIT -V

With the help of a functional diagram explain ADC.

Explain weighted resistor DAC.

OR

12
L1
I3
IE5
L2

12

L4

"L

Ll

L35

L5
1.2

L2

L5

1.3
L4

L3

Max.Marks: 60

2M
M
2M
2M
M

10M

5M
M

10M

10M

10M

5M
SM

10M

10M

M
5M

10M




Q.P. Code: 18EC0402 R1§

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS) :
B.Tech II Year I Semester Supplementary Examinations December 2021/January 2022
DIGITAL SYSTEM DESIGN

(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L. Answer the following; (5 X 2 = 10 Marks)
(@) Define Multilevel Gates. L2 2M
(b) Describe the Commutative law | 2M
(c) Explain Canonical and Standard Forms. L3 2M
(d) Define and prove the consensus theorem. L1 2M
(e) Explain the principle of duality. L2 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. What is meant by self-Complementing Code and convert (0.6875)10 L2 10M
to Binary
OR
3. (a) Stateand Apply DeMorgan’s theorem. [(x+y) +(x+y) ] =x+y L1 5M
(b) Describe weighted binary code and Non -weighted code with L3 5M
suitable examples
UNIT - II
4. the octal equivalent of hexadecimal numbers of DC.BA and AB.CD L2 10M
OR
5. Explain the Karnaugh maps of 5 variables with suitable examples L3 10M
UNIT - III
6. Prepare the Master-Slave JK FF for the industrial applications L2 10M
OR
7. (a) Describe the Shift registers and Clock generation L3 5M
(b) Write about the Pseudo Random Binary Sequence generator 5 | M
UNIT - IV
8. List out the Synchronous counters applications and design with L2 10M
suitable examples
OR
9. Explain the Edge triggered FF with suitable examples L3 10M
UNIT -V
10. (a) Draw the diagrams of TTL by NAND gate L2 5M
(b) Draw the neat diagrams of the PLA Logic. 2 5M
OR
13- Define the Specifications, Noise margin, Propagation delay and fan- L1 10M

in, fan-out
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester (R18) Supplementary Examinations January 2022
STRENGTH OF MATERIALS
(MECH)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L Answer the following; (5 X 2 = 10 Marks)
Define the terms Factor of Safety and Poisson’s ratio. L1 2M
What is the use of SFD and BMD. £E2 2M
What is the meaning of strength of section. L2 2M
What causes deflection of beam. L2 2M
How do you measure internal pressure in a tank. L3 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Define Strain energy & resilience. A tensile load of 60 KN is gradually applied L3 10M
to a circular bar of 4 cm diameter and 5 m long if E=2x105N/mm2.
Determine: i) stretch in the rod (i) stress in the rod and (iii) strain energy
absorbed by the rod '

S 80858

0

P e

OR
3. (a) Define Bulk Modulus. Calculate the Bulk modulus for a material having L2 5M
young'’s modulus 1.2x105N/mm? and p=1/4.
(b) A bar of 30mm diameter is subjected to a pull of 60 KN. The measured L3 5M
extension on gauge length of 200 mm is 0.Imm and change in diameter is
0.004 mm, calculate:(i) Young’'s modulus (ii) Poisson’s Ratio and (iii) bulk

modulus.
UNIT - 11
4. Draw the SFD and BMD for the cantilever beam carrying uniformly 13 10M
distributed load of whole length and also derive an equation for it.
OR
5 Draw the shear force and bending moment diagram for a simply supported 13 10M

beam AB of span 9 meters carrying a uniformly distributed load of 18 KN per
meter for a distance of 4 meters from the left support A.

UNIT - III
6. Derive the formula for shear stress at a section. L4 10M
OR
7. A steel beam of I -section, 200 mm deep and 160 mm wide has 16 mm thick L5 10M

flanges and 10 m thick web. The beam is subjected to a shear force of 200 KN.
Determine the shear stress distribution over the beam section.
UNIT - IV

8. Derive an expression for Torque transmitted by a hollow circular shaft L5 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester (R18) Supplementary Examinations January 2022
DATABASE MANAGEMENT SYSTEMS

(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L Answer the following; (5 X 2 =10 Marks)
(a) Define Entity, Attributes, Entity set, relationship with appropriate 11 M
notations.
(b) Define-relational algebra 12 2M
(c) What are axioms Ll 2M
(d) Define validation based protocols. L1 M
(e) . Define rotational latency time. L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 Explain about Database languages with examples. I3 10M
OR
3. Explain about integrity constraints over relations. L3 10M
UNIT - 11
4. Write about relational algebra? Discuss about different operators L1 10M
used in algebra.
OR
5. What is a join operator? Explain about conditional join and natural L2 10M
join with syntax and example.
UNIT - III
6. What are different types of normalization? Also explain the Ll 10M
difference between BCNF and 3NF
OR
7. Explain about schema refinement in database design. L3 10M
UNIT - IV
8. Explain transaction states with example. L3 10M
OR
9. Explain serializability in transaction management. I3 10M
UNIT -V
10. Compare file organizations. 135 10M
OR

11. Explain about B+ Tree. L3 10M
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B.Tech II Year I Semester Supplementary Examinations January 2022
Network Theory
(Electrical and Electronics Engineering)

Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)

1. Answer the following; (5 X 2 = 10 Marks)
(a) Write the limitations of ohms law. L1 2N
(b) Compare band pass and band reject filters L1 2M
(¢) Draw the transient response of RLC series circuit for DC excitation. L1 2M
(d) Differentiate impedance and admittance parameters in two port networks. L1 2M
(e) Define Fourier integral. List out its uses in electrical engineering L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Discuss the concept of source transformation technique. L2 4M
(b) Find current lo in the circuit shown in below Figure L3 oM
_'f,_ S0 yoo
Cole®v ® T b
OR
3. (a) Differentiate active and passive elements with examples. L2 4M
(b) Draw the dual of the Network shown in given below Figure L3 oM
|1
e,
ANV 115
4 Ry L
\% ﬂ) = =Ca RE
UNIT - 1I

4. (a) A series RLC circuit consists of a resistance of 1 k ohm, an inductance of 10 mH L3 5M
and a capacitance of 100 pF. For a supply voltage of 100V, determine the
Resonant frequency.
(b) Explain about Constant-K high-pass filter in detail. L2 5M
OR
5. (a) Write the expression for impedance of R-L-C series circuit. When does it have L2 5M
minimum impedance?
(b) Define Q-factor. Find the Q-factor for an inductor and capacitor. L2 5M
UNIT = III
6. (a) A Series RLC circuits has R=50 ohm, L= 0.2H, and C = 50 microfarad. Constant L3 5M
voltage of 100V is impressed upon the circuit at t=0. Find the expression for the
transient current assuming initially relaxed conditions.




Q.P. Code: 18EE0242
(b) The circuit shown in below figure, the switch “S” is open and the circuit reaches 13

7. (a)
(b)

8.

9.
10. (a)
(b)

11.

a steady state. At t=0, the “S” is closed. Find the current in the inductor for t>0.

100
A

- D[ b

OR

Derive the Transient Response of series RL-circuit with D.C excitation

A series RC circuit consists of a resistor of 10Q and capacitor of 0.1 F with a
constant voltage of 20v, is applied to the circuit at t=0.Obtain the current

equation. Determine the voltage across the resistor and the capacitor.

UNIT - IV

Find the Y-parameters of the network show in below Figure and there by obtain
Z-parameters.

OR
Find the current transfer ratio 12/11 for the network shown on figure.
213 20 .

h =10 2 ,T i
UNIT -V
Obtain the Fourier series for the following waveform shown in figure.
V()
™
10v --- -
= T 27T 3 |am “wit
-10v | - - = =

Y 4

Derive the Trigonometric form of Fourier series.
OR

Obtain the magnitude and phase spectrum of the waveform shown in figure.
X
10
5

ol

-10

L2
L3

L3

[E2

5M

Q1 Q1
= &

10M

10M

5M

5M

10M
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a)

b)

Time: 3 Hours

Q.P. Code: 19HS0832 R19

SIDDARTHA INSTITUTFE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations Dec 2021 /January 2022

PROBABILITY, NUMERICAL METHODS AND TRANSFORMS
(EEE)

Answer one question from each unit (5 x 12 = 60 Marks)

UNIT-I

In a group there are 3men and 2 women. Three persons are selected at
random from this group. Apply (he probability that one man and two
women or two men and one women are selected.
Five persons in a group 20 are engineers. If three persons are selected at
random, determine the probability that all engineers and the probability that
at least one being an engineer.

OR

In a certain college 25% of boys and 10% of girls are studying mathematics.
The girls Constitute 60% of the student body. (a) What is the probability that
mathematics is being studied? (b) If a student is selected at random and is
found to be studying mathematics, find the probability that the student is a

girl (c) a boy.
NIT-I]
By using Bisection method to find the square root of 25, whenx0 = 2. 0,x1=
7.0
OR
What is the root of the equation xe= 2 usini Regula-falsi method.

Tabulate y(0.1). y(0.2) and y(0.3) using Taylor’s series method given that y'=y*+x
and y(0) =1
OR

; .2_‘2 A .
Using R-K method of 4thorder, solve %= }21_:? y(0)=1. Find y(0.2) and y(0.4).

App]ying?r Laplace transform method (0 solve Y''—3y'+2y=4t+e®  where
y(0)=Ly (0)=1

OR
Find the Laplace transform of f(t)=e*sin2tcost

Value the Laplace transform of f(t) =(Vt + 1/t)’

Determine the value of Z (cosnt) and Z(sinnt). Hence find
(i) Z(n cosnt) (ii) Z(n sinnt
OR

Applying the Z —transform, solve Yar2-0Y a1 +Ry,=2"+6n

Max. Marks: 60

Ll

163

L1

L3

6M

6M

12M

12M

12M

12M

12M
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Q.P. Code: 19EC0421

10

Time: 3 Hours

a)
b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

MICROPOCESSORS AND MICROCONTROLLERS
(CSE)

Answer one question from each unit (5 x12 = 60 Marks)

UNIT-I
Explain Microprocessor controlled temperature system (MCTS)
Discuss Input and output devices of Computers

OR
Discuss in detail Microprocessor Architecture and its operation
Explain different Memory Modules in Computers.
UNIT-II
What are the various types of data formats for 8085 instructions? Give
list of examples.
Discuss about Demultiplexing the bus AD7-ADO.
OR
Draw the internal architecture of 8085 MiCroprocessor.
Draw and explain memory read timing diagram of 8085.
UNIT-III
Write the available special function registers in 8051.
Explain each special function register with format.
OR
Draw the pin diagram of 8051 microcontroller and explain the
functionof each pin in detail.
Explain the different serial communication modes in 8051.
UNIT-1V

Discuss the types of addressing modes apply with suitable examples in
8051.

What is the operation carried out when 8051 executes the instruction
MOVC A, @A+DPTR?

OR
Explain Jump and call instructions in 8051.

Explain Logical operations and Arithmetic operations in 8051.

UNIT-V
Explain about multiple interrupts.
Design a program for keyboard interfacing with 8051.
OR
Interface A/D converter with 8051 and Explain.
Interface D/ A converter with 8051 and Explain.

R19

B.Tech II Year I Semester Supplementary Examinations Dec 2021 /January 2022

Max. Marks: 60

L2
122

L2
52

L2

2
I£2

L3
L2

L2

L2

L3

L4

L4
L4

L4
L6

L4
L4

6M
6M

6M
6M

6M
6M

6M
6M

4M
8M

6M
6M

6M

6M

6M
6M

6M
6M

6M
6M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations January 2022
STRENGTH OF MATERIALS-II
(CIVIL)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

d A thin cylindrical shell is 3m long and 1m in internal diameter. It is L3 12M
subjected to internal pressure of 1.2 MPa. If the thickness of the sheet is
12mm, find the circumferential stress, longitudinal stress, changes in
diameter, length and volume . Take E=200 GPa and p= 0.3.
OR
2 Derive an expression for hoop and radial stresses across thickness of the 12 12M

thick cylinder

3 Derive kernel of section for (i) Rectangular section. (ii) Circular section. (iii) L2 12M
Hallow Circular sections.

OR
4 (a) Explain maximum strain energy theory. L3 oM
(b) Explain maximum principal strain theory. L3 oM
5 Derive pure torsion equation for a circular shaft with assumptions. L4 12M
OR
6 (a) Define Polar modulus, Torsional rigidity. L1 oM

(b) A hollow steel rod 200 mm long is to be used as torsional spring. Theratioof L3 6M
inside to outside diameter is 1 : 2.The required stiffness of this spring is
100N.m/degree. Determine the outside diameter of the rod. Value of G is 8 x

104 N/mm2.

7 A fixed beam AB of length 3 m carries a point load of 45 kN at a L3 12M
distance of 2 in from A. If the flexural rigidity (i.e., EI) of the beam is 1 x 1(
determine :

(i) Fixed end moments at A and B,
(ii) Deflection under the load, (iii) Maximum deflection, and
(iv) Position of maximum deflection.

OR

8 A continuous beam ABC of uniform section with span ABand BCas 4 m L2 12M
each, is fixed at A and simply supported at B and C. The beam is carrying a
uniformly distributed load of 6 kN/m run throughout its length. Find the
support moments and the reactions using theorem of three moments. Also

draw SFD and BMD.
9 Explain the importance of curved beams in structures. L3 12M
OR
10 Calculate the stresses in curved beams and state the assumptions made in L2 12M

the analysis of curved beams




Q.P. Code: 19EE0202 R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations January 2022
ELECTRICAL CIRCUITS-II
(EEE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

1 Derive the relationship between Phase and Line voltages, currents in L3 12M
delta connected load.
OR

2 Derive the relationship between Phase and Line voltages, currents instar L3 12M

connected load.
NIT-II

3 Derive the transient response of an RC circuit with dc excitation. L4 12M
OR
4 Derive the transient response of an RL circuit with Ac excitation. L4 12M
NIT-III]
B Find the cutset matrix for the followings? L3 12M
———— —r+41~“- =
0l
i %‘
—*h—-—_J

6 Determine current in 10€2 resistor for the following network by using L3 12M
nodal analysis.

|
s ( - 1o Fr.,n /"OV
1 I

152
AWV NWWA_
=a

|
|

il

NIT-I
7 Derive the expressions for Z-parameters in terms of ABCD parameters. L3 12M
OR
8 Derive the expressions for Y-parameters in terms of ABCD parameters? L3 12M

NIT-
9 A 1kQ resistor is in series with a 500mH inductor. This series L4 12M
combination is in parallel with a 0.4pF capacitor. Express the equivalent
s-domain impedance of these parallel branches as a rational functional.
OR
10 Define Laplace transform of a function. L1 eM
Derive Laplace transtorm of all standard signals L3 oM




Q.P. Code: 19CS0504
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(AUTONOMOUS)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

B.Tech II Year I Semester Supplementary Examinations January 2022

Time: 3 Hours

(@)
(b)

(@)
(b)

COMPUTER ORGANIZATION & ARCHITECTURE
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Sketch the basic functional unit of computer and explain each unit in
detail.

OR

Summarize the Addressing Modes with neat sketch.

NIT-II

[llustrate the steps in Booth multiplication algorithm and Draw the
flowchart with an example.
OR

Compare signed number, 1’s complement, 2’s complement with an
example.
Describe about fixed and floating point representations

Define register transfer language? Explain in detail.
OR

Examine the Bus transfer with neat diagram.
Summarize the Register Representations and way it is used.

Describe the use of DMA controllers in a computer system with a
neat block diagram

OR

Give detailed notes on DMA controllers and transfers with neat sketch

Define the hazards? Explain in detail about instruction hazards?
OR

Implement three types multiprocessor system with neat sketch

Max. Marks: 60

L2

L4

L6

12M

12M

6M

6M

12M

6M
6M

12M

12M

12M
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SURVEYING & GEOMATICS
(CIVIL)

R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

Explain in detail the classifications of surveying.
OR
With neat sketch, explain the prismatic compass by indicating their

parts.

What are the indirect methods of locating a contour? Write about any
two method

OR

(a) Write short notes on methods of leveling.
(b) Briefly explain the temporary adjustment of leveling

Derive an expression to find the height of an object by double plane
method
OR
(a) What is an analytical lens? Establish the basic equation for an analytic
lens.
(b) How would you, determine the constants K and C of a Tachometer.

Mention the various methods of setting out of simple curve. Explain with
offsets from long chord method in detail.

OR

Describe with sketch the method of setting a simple circular curve by
Rankine’s deflection angle method.

Explain with sketch the principle of EDM instrument.
OR

Describe with sketch, the fundamental measurement of angles and
distances by total station.

L3

L2

L3

LT
L2

B

L3

L3

L4

1.2

12M

12M

12M

6M
6M

12M

6M
6M

12M

12M

12M

12M
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Time: 3 Hours

a)

R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

FLUID MECHANICS & HYDRAULICS MACHINERY
(MECH)

Answer one question from each unit (5 x 12 = 60 Marks)
Note: Assume suitable date, if any data is missing

Explain compressibility, surface tension and capillarity

Discuss briefly about piezometer, manometer and inverted U-tube manometer

with a neat sketch

OR

Define fluid and write the expression for any four physical properties of fluids
State and prove Pascal’s law when the pressure variation in a static fluid
What do mean by stream tube, stream line and streak line

Derive Euler’s equation of motion along a streamline

OR

Derive continuity equation in one- and three-dimensional forms
Distinguish between Energy gradient line and Hydraulic gradient line.

Describe briefly orifice meter and derive the expression for measuring

discharge of fluid through a pipe with this device
Write the importance of Hardy Cross method in pipe networks

OR

What is a pitot tube and explain how it used for measuring velocity of flow at

any point in a pipe

Write the examples for minor losses in pipe flow and discuss the significance

of pipes connected in parallel

Derive an expression for the force exerted by a jet of water on a fixed vertical
plate in the direction of jet

Explain the various components of dam type power plant.

OR

State and discuss forced vortex and free vortex

Discuss the various types of hydroelectric power plant

Define hydraulic turbine and discuss how the turbines are classified

Define gross head and effective head and write the expressions for hvdraulic,

manometric, volumetric and overall efficiencies of a centrifugal pump
OR
State the merits and demerits of a modern Francis turbine over Pelton turbine

Discuss the various components of centrifugal pump and explain working
of a centrifugal pump i

L2
L3

L1
L4

L2
L4

L4
L2

L4

Tl

L1
L2

L3

L2

L1
L2

L1
3

122
L3
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Q.P. Code: 19CS0505 R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations January 2022
C AND DATA STRUCTURES
(CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

a) Explain the general form of a C program with an example. L2 6M
b)  What is an expression? Explain different categories of expressions. Lz &M
OR
a) List out unconditional control statements. Explain the difference among L2 &M
them.
b) Write a program to find the factorial of a given number. L3 &M
IQNTT -IE
a)  Whatis an array? What are the advantages of arrays over a ordinary L2 &M
variables? How arrays are declared and initialized?
b) Write a program for finding the largest number in an array. L3 6M
OR
Write about categories of functions with examples. L3 12M

a)  Define structure and give the general syntax for structure. Write suitable 11 &M
example program.

b)  Give difference between the structures and union. L4 oM
OR
) Define union and give the general syntax for union. Write suitable [2 M

a example program.

b) How to declare and initialize a structure with examples? L4 6M
What is a stack? What are various operations that can be performed on L2 12M
them? Explain with an example.

OR

a) What is data structure? Explain the linear and non linear data structure L2 6M
in detail.

b)  What are the advantages and disadvantages of stack and queue. L2 &M

NIT-
Explain briefly about various types of linked lists with suitable examples. 12 12M
OR

Write the various operations of double linked list in detail. L3 12M




- Q.P. Code: 19CS0501

Time: 3 Hours

1 (a)
(b)

2 ()
(b)

3

4 (a)
(b)

5 (a)
(b)

6 (a)
(b)

7

8

9 (@
(b)

10

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations January 2022

PYTHON PROGRAMMING
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain about the Single-Valued data types in python
What is Indentation? Explain with example.

OR
Enumerate the list and its methods with example.
Elucidate the string and its methods with example.

Explain in detail about Control flow structures in python.
OR

Write a python program to find the given number is odd or even.
Explain break and continue statement with the help of for loop with an

example.

Differentiate keyword and default arguments.
Differentiate global and local variables.
OR

Write a function to display ASCII Code of entered character
Describe how an object is passed as parameter to a method
What is module? How to create that module explain with program.
OR
What is user defined exception and explain with example program.
What is turtle graphics in Python? How do you fill a turtle in Python with
color?

Write python program to display equilateral triangle using turtle graphics.

OR

What is mean by Functional Programming? Write about map and filter in
Python.

Max. Marks: 60

6M
6M

6M
6M

12M

6M
6M

6M
6M

6M
6M

12M

12M

6M

6M

12M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations January 2022

BUIDING MATERIALS & CONSTRUCTION

R1

(CIVIL ENGINEERING)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
Write about manufacturing and defects of bricks. L1 12M
OR
(a) Explain the defects caused due to seasoning of timber. L3 6M
(b) What are the objects of preservation of timber. L1 6M
NIT-11
How the ordinary Portland cement will be manufactured by L2 12M
using wet and dry process.
OR
In detail explain about mixing and vibration of concrete. L1 12M
What are the mechanical properties of coarse aggregate? L1 12M
OR
(a) Briefly explain about composition of oil paint. L4 6M
(b) What is the procedure for preparation of pint, Explain briefly? L1 6M
What are the loads acting on foundation of a building. L2 12M
OR
In detail explain about bond formation in brick masonry with L2 12M
neat sketch.
What are the different types of mortars used] for plastering L1 12M
explain in detail?
OR
Explain in detail about different terms are used? L3 12M
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Time: 3 Hours

()
(b)

(@)

R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

KINEMATICS OF MACHINERY
(MECH)

Answer one question from each unit (5x12 = 60 Marks)

Describe the classification of the kinematics pairs with neat
sketch and all the aspect.

OR
What are the practical applications of inversions of the single
slider crank chain? Explain all with neat sketch.

Describe the Ackerman steering gear of an automobile, with neat
sketch.

OR

Sketch and explain the working of Grasshopper straight line
mechanism
Sketch and Describe the working of Peaucellier mechanism

What do you understand by the instantaneous centre of rotation
in kinematic of machines? Answer briefly

OR
What are the different types of motion and how the follower can

move in it?

Draw the displacement, velocity and acceleration diagrams for
a follower when it moves with simple harmonic motion.
OR

Draw the displacement, velocity and acceleration diagrams for a
follower when it moves with uniform Acceleration and

retardation.

Explain the classification of gears with neat sketches
OR

What do you understand by ‘gear train’? Discuss the various
types of gear trains.

(b) How the velocity ratio of epicyclic gear train is obtained by

tabular method?

L1

L2

2

I3

L1

L1

L3

L3

L1

L

Max. Marks: 60

12M

12M

12M

6M

6M

12M

12M

12M

12M

12M

6M

6M




Q.P. Code: 19EE0203

10

B.Tech II Year I Semester Supplementary Examinations January 2022
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(a)
(b)
(@)
(b)

Ri9

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

ELECTRICAL MACHINES-I
(EEE)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain the basic principle of operation of a DC Generator with
a simple loop generator.
OR

A DC Compound Generator has 110V as terminal voltage. The
armature resistance, shunt field Resistance and series field
resistance are 0.06Q, 25Q and 0.04Q respectively. The load
consists of  200A which rated at 55W. Find the total emf
generated  and armature current when the machine is

connected as (i) Long Shunt (ii) Short Shunt
NIT-11

Explain in detail about the types of D.C motors. Also mention
their applications
OR
Explain the armature voltage and field flux control methods for
the Speed control of a DC Motor

Explain Swinburne’s test on DC machines? What are its
advantages and disadvantages
OR

Describe Hopkinson test in detail. What are its advantages and

disadvantages

Explain the effect of variations of frequency and supply voltage

losses
Write a short notes on practical Transformer

OR
With relevant phasor diagrams, explain the operation of a
practical single phase transformer under no load condition.
A 230/2300V transformer takes a load current of 6.5A and
absorbs 187W. If the resistance of primary is  0.06Q, find (a)
Core loss (b) no load power factor (c) active component of
current and (d) magnetizing current.
Explain the Scott connection of two single phase transformers
with neat circuit diagram.

OR

Discuss how you will perform O.C and S.C tests on a single
phase transformer in the Laboratory.

L2

L4

L2

L3

L2

L3

L1

L1

I3

o5

Max. Marks: 60

12M

12M

12M

6M

12M

12M

6M

oM

6M

6M

12M

12M
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Time: 3 Hours

(@)
(b)

(@)
(b)
(a)
(b)

(@)
(b)

(a)
(®)

(a)
(b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

DATABASE MANAGEMENT SYSTEMS
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Briefly explain about Views of data
Explain about various data models.
OR
Explain about ER model and Component of ER Diagram
Write about logical database design (ER to Relational) with

suitable examples.
UNIT-II

Distinguish between two set theoretic operations of relational
algebra with an example.
To establish the WHERE, ANY,AS and ALL sub queries with
example

OR
Write a nested query to find the names of sailors who have
reserved both a red and Green boat?
Write a nested query to find the names of sailors who have

reserved all boats
NIT-III

Define decomposition and how does it address redundancy?
Discuss the problems that may be caused by the use of
decompositions?

OR
Explain the following with suitable example. (i) Full functional
dependency. (ii) Partial dependency
What do you mean by Normalization? Explain BCNF, 3NFand

2NFwith a suitable example.
NIT-I

Define a Transaction? List the properties of transaction
Write briefly about serializability with example.
OR

Discuss different phases (states) of transaction
Define Schedule? What is a serial schedule

Explain how recovery is done using undo logging and redo logging.
Which level of RAID is best? Why
OR
Explain about failure with loss of non-volatile storage
What are the methods that are used in log based recovery

L1
L3

L3
=2

Li

L3

L3

L2

L2

L3

124!
L4

L2
L1

Max. Marks: 60

oM
6M

6M
6M

6M

6M

6M

6M

12M

6M

oM

6M

6M

6M
6M

6M
6M

6M
6M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech Il Year I Semester Supplementary Examinations Dec 2021 /January 2022
RELATIONAL DATABASE MANAGEMENT SYSTEM
(Common to CE, EEE & ME)

Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
NIT-I
1 (a) Define Database. Discuss about applications of Database Systems. L1 6M
(b) Discuss about the purpose of Database Systems? L6 6M
OR

2 (a) Implement the DDL Commands - Table Creation, Altering the table L1 6M
structures, truncating a table and dropping a table.

(b) Write a short note on relational model with an example. L1 oM
NIT-II
3 Write about relational algebra? Discuss about different operators used in L2 12M
algebra.
OR
4 (a) Write a short note on Weak Entities and give suitable example. L2 oM
(b) Write about the different symbols used in ER diagrams. L2 6M
NIT-IIT
5 Explain about Union, Intersect, and Except SQL query with example. L2 12M
OR
6 Discuss about set comparison operators? L1 12M
NIT-1
7 Explain about Fifth Normal form with an example. L2 12M
OR
8 Explain about properties of decomposition and fifth normal form with an L2 12M
example.
9 (a) Write short note on Buffer management for management of data. L3 &M
(b) Explain in detail about ISAM L4 oM
OR

10 Classify various levels of RAID with neat diagrams [4 12M
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(@)
(b)

(a)
(b)

R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

Linux Programming
(ECE)

Answer one question from each unit (5 x 12 = 60 Marks)

NIT-I
Write about the operations that can be performed on both
directories and file.

OR

Explain the security levels provided in Unix environment. How
to change permissions of a file?

Brief umask command.
NIT-II

Explain Variables with its characteristics and options.
OR

Discuss about Standard Streams? Explain Briefly.
Discuss pipe and tee command with suitable example.

UNIT-II
What is mail? Explain it in detail.
OR

List all the commands associated with send mail with its actions
performed.

NIT-I
Describe the overview of Sed and awk ?
OR
List and explain the expressions involved in Korn shell.
NIT-V]
Detail about the variables associated with C shell.
OR
List and explain the expressions involved in C shell.

12

L1

12

L2
L2

L1

L1

L2

L1

L4

L2

Max. Marks: 60

12M

6M

6M

12M

6M
6M

12M

6M

12M

12M

12M

12M
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MANAGEMENT SCIENCE
(CSE)

Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

Define Management. Describe nature and importance of
Management

OR
(a) Briefly explain the Weber ‘s Ideal Bureaucracy.
(b) Examine the Span of control.

NIT-II

Explain the stages in Product Life Cycle with the help of diagram.
OR
Explain the concept of work study and its types
Define training? Explain the types of the job training methods.
OR
(a) Discuss the wage and salary administration

(b) Evaluate on-the job training.
NIT-I

Identify and discuss the stages in the process of strategy formule
implementation.

OR
Discuss about environmental scanning and explain the process of

environmental scanning
NIT-V]|

Explain the enterprise resource planning and its utilities in
management.

OR

What is Bench Marking and how does an organization derive
benefit from such initiatives.

L1

Lé
L5

L4

L6

L1

12M

6M
6M

12M

12M

12M

6M
6M

12M

12M

12M

12M
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(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations January 2022
Network Theory
(ECE)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

1 a) Determine ix for the following network. L4

VvV

<>
44 (1\) g i i g e (1\) -34

b)  Explain about source transformation briefly 12

OR

2 a) State and prove Milliman™s theorem. L2
b) Verity reciprocity theorem for the network shown in below figure. L4

20 20
AN AWV

Q)zov gm gm gzg

3 a) Explain about Parallel resonance with phasor diagrams. L2
b) Find the value of , L at which the circuit resonates at a frequency of 1000 L4
rad/sec in the circuit Shown in the figure.

- L 2o
OR
4 Explain about Constant-K low-pass filter in detail. L5
NIT-III
5 a) Derive the Laplace Transform of Series RL Circuit . L2

b) A series RC circuit consists of a resistor of 10Q and capacitor of 0.1 F with L4
a constant voltage of 20v, is applied to the circuit at t=0.0Obtain the current
equation. Determine the voltage across the resistor and the capacitor.

6M

6M

6M
6M

6M
6M

12M

6M
6M
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OR

6 a) Derive the Laplace Transform of Series RC Circuit.
b) A series RL circuit with R=30€2 and L= 15H has a constant voltage V=60v
applied at t=0. Determine the current “I”, voltage across resistor and

voltage across inductor.
NIT-I

7 a) Explain about h-parameters in terms of y-parameters.
b) Find the Short-circuit parameters for the circuit shown in figure.

4,_>,
y

@

11

8 a) Derive the expressions for Z-parameters in terms of ABCD-parameters.
b) Find the current transfer ratio 12/11 for the network shown on figure.
213 20 .
S

I3 Iz

o

AAA

)

I 10

9 a) Derive the Exponential form of Fourier series.

b) Obtain the Fourier series for the following waveform shown in figure.
V(D)
™
10v --- - -
= 2m [3m [am Twt
E T - -
b
OR
10 Determine the Fourier transforms of the following waveforms shown in
figure (a) and figure (b).
’."i(n )
AR e —— T
S35 e

—_— Ly

fig(a)

L2

L2
L4

L2
L2

L2
L4

L4

6M
6M

6M
6M

6M
oM

6M
6M

12M
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STRENGTH OF MATERIALS
(Mechanical Engineering)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

UNIT-I
A member ABCD is subjected to point loads P1, P2, P3 and P4 as shown in figure. L3 12M
Calculate the force P2 necessary for equilibrium, if P1 = 35 kN, P3 = 425 kN and P4
= 100 kN. Determine the total elongation of the member, assuming the modulus of
elasticity to be 2.4 x 10° N/ mm’

B >
| -
A €
At T € Py T 2] Ps
> 62‘5'mm = S % 1250 mm  [——>
wy
g !

Ed—tZOcm——o-]*—— 60 cm —-}4—— 90@?\\‘—‘——]
OR

Determine the diameter of a bolt which is subjected to an axial pull of 10 kN together L3 12M
with a transverse shear force of 5.5 kN using :

(i) Maximum principal stress theory.

(i1) Maximum principal strain theory.

Given the elastic limit in tension = 250 N/mm®, factor of safety = 4 and Poisson's

ratio = 0.3.
UNIT-II
Construct the bending moment and shear force diagrams for the beam shown in the L3 12M
figure.
20 kN/m 50 kN 40 kN

A beam is simply supported and carries a uniformly distributed load of 50 KN/mrun L3 12M
over the whole span. The section of the hewn is rectangular having depth as 600 mm.

If the maximum stress in the material of the beam is 150 N/mm® and moment of

inertia of the section is 6 x 10* mm?, find the span of the beam.

Derive shear stress distribution formula for triangular section with a neat sketch. L2 12M
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a)
b)

OR

A hollow shaft, having an inside diameter 60% of its outer diameter, is to replace a
solid shaft transmitting the same power at the same speed. Calculate the percent-age
saving in material, if the material to be used is also the same.

A horizontal beam AB is simply supported at A and B, 6 m apart. The beam is
subjected to a clockwise couple of 250 kN-m at a distance of 4 m from the left end as
shown in figure below If E =2.1 x 10° N/mm2 and I= 2 x 10® mm®, determine :

(1) Deflection at the point where couple is acting and
(ii)  The maximum deflection.
A , £ ]
4 ", /300 KNm j
fe—————— — Aam —————#]
< — & m
Ra Ro
OR

Write the assumptions made in the Euler’s column theory.
Write the end conditions for long columns and state the difference between long

columns and short columns.

A cylindrical thin drum 80 ¢m in diameter and 3 m long has a shell thickness of 1
cm. If the drum is subjected to an internal pressure of 2.5 N/mm?, Take E=2x 10 5
N/mm? Poisson’s ratio 0.25
Determine
(i) change in diameter
(i1) change in length and
(iii) Change in volume.

OR
Determine the maximum and minimum hoop stress across the section of a pipe of
350 mm internal diameter and 120 mm thick, when the pipe contains a fluid at a
pressure of 8.5 N/mm?. Also sketch the radial pressure and hoop stress distribution
across the section.

[53

L3

1.2

1.2

12M

12M

4M
M

12M

12M
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Q.P. Code: 18CS0515

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech 111 Year I Semester (R18) Supplementary Examinations DEC 2021
COMPUTER NETWORKS
(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
I Answer the following; (5 X 2 = 10 Marks)
(a) Name the functions of network layer i) 2M
(b) Describe the process of stop and wait protocol. L2 2M
(c) Write about broadcasting. 3 M
(d) Distinguish between contention and congestion. L4 2M
(e) List out the four main properties of HTTP. A 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Compare OSI and TCP/IP Network models. L4 10M
OR
3 Give the description of wireless transmission media. L2 10M
UNIT-1I
4. Discuss bit-oriented HDLC Protocol with the elaborative explanation of its L2 10M
frames
OR
53 Extend about the Elementary data link protocols. L2 1M
UNIT -I11
6. Sketch and explain in detail about IPV4 protocol. L3 10M
OR
7. Compare Virtual circuit network and Datagram network with diagrams. L4 10M
UNIT -1V
8. [llustrate the different Primitives used for transport service. Elaborate them. L2 10M
OR
9. Correlate the various timers used by TCP to perform its various operations L4 10M
UNIT-V
1. Discuss the features of HTTP and explain how HTTP works. L2 10M

11 Discuss about File Transfer Protocol with neat diagram. L2 10M




Q.P. Code: 18ME0312

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations January 2022
CAD/CAM
(MECH)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) Why should we go for CAD? Ll 2M
(b) What are the Fundamentals of solid modeling. Ll 2M
(c) What are all the problems encountered with NC system. L1 2M
(d) Define Part families. L1 2M
(e) Define the MRP-I and MRP-II. L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Discuss clearly the functions of a graphics package. L4 10M
OR
3. Discuss Brief about the Co-ordinate systems L6 10M
UNIT - 1I
4. Explain the Constructive Solid Geometry (CSG) method to create models. L5 10M
OR
5. Explain about Parametric and non-Parametric representations. L2 10M
UNIT - III
6. [llustrate Brief about NC motion control systems. L2 10M
OR
7. Explain about various NC procedure and Explain types of Numerical Control L3 10M
UNIT -1V
8. Write brief notes on Group Technology and Parts classification and coding L5 10M
OR
0 Explain production flow analysis (PFA) and Benefits of Group Technology L3 10M
UNIT -V
10. Explain the Retrieval type system with neat sketch and explain the Benefits of L2 10M
CAPP?
OR

J°L What is CAPP? Explain the any one type of Capp with neat sketches. L1 10M




Q.P. Code: 18CE0116

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations DEC 2021/JAN-2022
GEOTECHNICAL ENGINEERING

(CIVIL)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) State Darcy’s law. L1 M
(b) Compression index, Expansion index &Recompression index L4 2M
(c) What are the constituents on which shear strength of soil depends upon? 7 | M
(d) Mention various uses of Taylor’s stability number. | 2M
(e) List out various types of soil samplers. 1] M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
7). Explain in detail the Indian Standard classification System and list out L3 10M
group symbols in detail?
OR
3. Explain the coefficient of permeability in laboratory by constant head " 10M
y L3
method with neat sketch.
UNIT - 11
4. Define consolidation and various types of consolidations. L2 10M
OR
5. Explain the procedure of Sand replacement method with neat sketch. L3 10M
UNIT - 111
6. Explain vertical stress under line load, strip load, circular load and | ! 10M
rectangular area
OR
7 Explain the principle of the direct shear test. What are the advantages of L3 10M
this test? What are its Limitations?
UNIT -1V
8. With the help of a neat sketch explain in detail about friction circle L2 10M
method?
OR
9 Give the step by step procedure of analyzing stability of a finite slope L2 10M
using Swedish circle method.
UNIT -V
10. Describe with a neat sketch how will you carry out the wash boring Ll 10M
method of soil exploration.
1 Give a detailed account on how Standard Penetration Test is conducted. L4 10M

What are the relevant corrections applied to SPT number?




Q.P. Code: 18CS0516
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
' (AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations DEC 2021/JAN-2022
DESIGN AND ANALYSIS OF ALGORITHMS

(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) Write the For LOOP general format. Il 2M
(b) List out the formulas for Stassen’s matrix multiplication. L1 2M
(c) Define optimal solution. L1 M
(d) State Sum of Subsets problem. Ll M
(e) Define NP. 11 ZM
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 Explain two types of recurrences in detail with suitable example. 13 10M
OR
3. (a) Determine in steps of Union and Find algorithms with example. L5 5M
(b) Explain space complexity in detail. 12 M
UNIT - 11
4, What is divide and conquer strategy? Explain the working strategy of L2 10M
Binary Search and find element 60 from the below set by using the above
technique: { 10, 20, 30,40,50, 60,70}. Analyze time complexity for binary
search.
OR
5, Summarize an algorithm for quick sort. Provide a complete analysis of L2 10M
quick sort for given set of numbers 12, 33, 23, 43, 44, 55, 64, 77and 76.
UNIT - 111
6. Explain any one application of greedy method with an example? L2 10M
OR
2 Build any one application of dynamic programming with an example. L6 10M
UNIT -1V
8. Explain sum of subsets by using backtracking with an example. L5 10M
OR
9. Simplify 0/1 knapsack problem and design an algorithm of LC Branch and L4 10M
Bound and find the solution for the knapsack instance of n = 4,(p1, p2, p3,
p4)=(10, 10,12, 18), (Wwl,w2, w3, w4) = (2,4, 6,9) and M = 15.
UNIT-V
10. State and explain cook’s theorem? L2 10M
1) Construct the non-deterministic sorting algorithm and also analyze its L6 10M

complexity.
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Q.P. Code: 18CS0514

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech III Year I Semester (R18) Supplementary Examinations January 2022

COMPILER DESIGN
(CSE)

Time: 3 hours

2

W

n

10.

11.

(a)
(b)
(c)
(d)
(e)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
List the various phases of a compiler.
Define LL (1).
What is mean by shift reduce parsing?
Define symbol table.
Define Dead-code elimination with example.
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the phases of a compiler with neat diagram?
OR
Explain about Language Processor in compiler Design?
UNIT -1I
Explain Error recovery in predictive parsing with an Example.
OR
Consider the grammar E->E+T/T, T->T*F/F,F->(E)|id Construct predictive
parsing table and check given grammar is LL(1) or not?
UNIT - 111
Construct CLR Parsing table for the given grammar S->CC, C->aC/d

OR
Describe the evaluation order of SDT with an example.
UNIT -1V
Draw the format of Activation Record in stack allocation and
explain each field in it.
OR
Describe the Storage Organization with simple examples.
UNIT -V
Explain the target machine architecture.

Describe about global data flow analysis.

Max.Marks: 60
L1 2M
L2 2M
L1 2M
2 2M
L2 y 2M
L3 10M
L2 10M
1.2 10M
L4 10M
1.3 10M
1.2 10M
L4 10M
L2 10M
L3 10M
L2 10M




Q.P. Code: 18ME0314

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech III Year I Semester (R18) Supplementary Examinations DEC 2021

MACHINE TOOLS
(MECH)

Time: 3 hours

o

10.

11.

(a)
(b)
(c)
(d)
(e)

PART-A
(Compulsory Questions)
Answer the following: (5 X 2 = 10 Marks)
Define cutting ratio.
Classify types of cutting fluids.
List the different types of lathe.
Define the terms “Drilling™.
Define the term Grinding.
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Distinguish the cutting process with neat sketches.
OR
Explain the importance and functions of different tool angles associated
with the geometry of a single point cutting tool with neat sketch.
UNIT - 11
Describe the factors affecting tool life and give Taylor™ tool life equation.
OR
Discuss tool failure and wear mechanism in cutting tool.

UNIT - 111
Discuss about the lathe attachments with neat sketches.

OR
What are the differences between a Turret and a Capstan lathe?

UNIT -1V
Draw the block diagram of a shaper machine and explain briefly its
various parts and operations performed.
OR
Draw the block diagram of a horizontal milling machine and explain its
various parts.
UNIT -V
With a neat sketch, explain construction and working of tool and cutter
grinding machine.
OR
How grinding machines are classified? Explain plain cylindrical grinding
machine with neat sketch.

Max.Marks: 60
L1 M
L2 M
1.2 2M
L1 M
L1 2M
L4 10M
L3 10M
L2 10M
L2 10M
L4 10M
L2 10M
L2 10M
L2 10M
L2 10M
L3 10M
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Q.P. Code: 18ME(0317 R18/SS

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations January 2022
Non-Conventional Energy Resources

(MECH)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(@) Name the renewable energy sources L1 2M
(b) Write the applications of solar energy L1 2M
(c) What is wind power? L1 2M
(d) Write the merits and demerits of Biomass Energy. L1 2M
(e) List the different methods of hydrogen storage L2 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Write short notes on solar radiation. L1 5M
(b) Derive an Expression for solar radiation on tilted surfaces. L3 5M
OR
3. (a) What is the need of renewable energy. ' L1 5M
(b) Describe Renewable Energy Scenario in Andhra Pradesh. L2 5M
UNIT - 11
4. Enumerate the different types of concentrating type collectors. L3 10M
5 Explain the working of water heating system and desalination system with L2 10M
a neat sketch.
UNIT - III
6. Describe with a neat sketch the working of wind energy system with main L3 10M
components.
OR
Vi How the electricity will be generated from wind turbine generator L3 10M
UNIT - IV
8. (a) Write short notes on various methods of biomass analysis. L1 5M
(b) Mention the characteristics of biodiesel. ) L1 5M
OR
9. Explain the working of biomass Cogeneration system with a neat sketch and 1.2 10M
also mention its applications.
UNIT -V
10. What is tide? Explain tidal energy and its conversion with neat diagram. L1 10M
OR
1l What are the geothermal power plants? Explain binary cycle power plant L1 10M

with neat diagram




